PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood				30,053	cords	
Pulpwood (Total)				30,053		
Saw Timber						
Hardwood				3,498,221	board feet	
Saw Timber (Total)				3,498,221		
Total Pulpwood, Chip & Saw,						\$3,740,088
Saw Timber FOB Mill						
Total Forestry Stumpage						\$1,643,918
(Total)						
Forestry (Total)						\$3,740,088
FRUITS						
Citrus						
Satsumas	*	20.0	150.00	3,000	bu.	\$60,000
Citrus (Total)		20.0				\$60,000
Fruits (Total)		20.0				\$60,000
FEED GRAINS						
Corn (Total)	*	457.0	158.00	72,206	bu.	\$158,131
Grain Sorghum (Total)	*	107.0	116.00	12,412	cwt.	\$44,435
Feed Grains (Total)		564.0				\$202,566
HAY FOR SALE						
Grass (Total)	35	3,500.0	1.50	5,250	tons	\$315,000
Hay for Sale (Total)		3,500.0				\$315,000
Home Gardens (Total)	2,025					\$526,500
NURSERY CROPS						
Floraculture & Bedding	*				acre	\$1,125,000
Plants (Total)						
Woody Ornamentals (Total)	*				acre	\$500,000
Foliage Plants (Total)	*				acre	\$5,000
Nursery Crops (Total)						\$1,630,000
= : :						

PECANS						
Improved (Total)	15	450.0	150.00	67,500	lbs.	\$87,750
Native (Total)	400	100.0	350.00	35,000	lbs.	\$31,500
Pecans (Total)		550.0				\$119,250
Sod Production (Total)	*	150.0			acre	\$900,000
Soybeans (Total)	21	9,528.0	47.00	447,816	bu.	\$2,646,593
SUGARCANE		,				
Raw Sugar (Total)	37	32,377.0	6,310.00	204,298,870	lbs.	\$25,067,471
Molasses (Total)		32,377.0	189.00	6,119,253	gal.	\$1,285,043
Sugarcane (Total)		32,377.0				\$26,352,514
VEGETABLES		,				
Irish Potatoes						
Fresh		2.0	167.00	334	cwt.	\$11,690
Irish Potatoes (Total)		2.0				\$11,690
Mirliton (Total)		1.0	1,800.00	1,800	lbs.	\$5,400
Mustard (Fresh) (Total)		5.0	600.00	3,000	doz. bunches	\$21,000
Okra (Fresh) (Total)		3.0	174.00	522	bu.	\$15,660
Onions (Total)		1.0	100.00	100	bag (50 lbs.)	\$3,000
Green Onions (Total)		0.5	1,000.00	500	lbs.	\$1,500
Parsley (Total)		0.5	1,500.00	750	doz. bunches	\$5,250
Peppers						
Bell		1.5	750.00	1,125	bu. (28 lb.)	\$22,500
Peppers (Total)		1.5				\$22,500
Shallots (Total)		2.0	1,200.00	2,400	doz. bunches	\$16,800
Snap Beans (Fresh) (Total)		3.0	140.00	420	bu. (30 lbs.)	\$12,600
Southern Peas (Fresh) (Total)		6.0	80.00	480	bu. (24 lbs.)	\$12,000
Squash (Fresh)						
Yellow Squash		4.0	120.00	480	bu. (45 lbs.)	\$9,600
Squash (Fresh) (Total)		4.0				\$9,600
Sweet Corn (Fresh) (Total)		10.0	550.00	5,500	doz. ears	\$19,250
Tomatoes (Field) (Total)		18.0	1,100.00	19,800	lugs (20 lbs.)	\$396,000
Vegetables (Total)		73.5				\$552,250
Wheat (Total)	8	2,839.0	67.00	190,213	bu.	\$623,899
TOTAL ALL PLANT ENTERPRISES						\$37,668,660
	FISHER	RIES & WILD	<u>LIFE ENTERPRISE</u>	ES PRODUCTION		

	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
FRESHWATER FISHERIES						
Crawfish (Wild) (Total)				1,041,131	lbs.	\$620,931
Freshwater Finfish (Total)				776,667	lbs.	\$253,193
Freshwater Fisheries (Total)						\$874,124
Fur Animals (Total)				2,855	pelts	\$27,694
Alligators (Wild) (Total)				4,192	ft.	\$125,775
HUNTING LEASES						
Waterfowl (Total)	320	100,000	No. Acres		acre	\$1,500,000
			Leased			
All Other Game (Total)	250	70,000	No. Acres		acre	\$490,000
			Leased			
Hunting Leases (Total)						\$1,990,000
Honey (Total)	*	100	No. Hives	1,500	lbs.	\$885
TOTAL ALL FISHERIES & WI	LDLIFE ENTERPRISES					\$3,018,477

^{**} The marine, freshwater and oyster data presented here are for the year 2004 rather than 2005. Release of fisheries landings data by the collecting agencies occurs

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					_
Steer Calves					
300-400 lbs.			369	head	\$196,708
400-500 lbs.			690	head	\$417,529
500-600 lbs.			1,350	head	\$887,065
600-700 lbs.			1,100	head	\$810,524
Steer Calves (Total)					\$2,311,826
Heifer Calves					
300-400 lbs.			390	head	\$182,432
400-500 lbs.			660	head	\$361,063
500-600 lbs.			1,250	head	\$774,538
600-700 lbs.			1,200	head	\$837,252

⁴⁻⁵ months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

CATTLE & CALVES Heifer Calves (Total)						\$2,155,285
Yearling Cattle						
600-700 lbs.					head	\$1,853
700-800 lbs.				230	head	\$1,535
Yearling Cattle (Total)						\$3,388
Cow-Calf Pairs (Total)					pair	\$352,487
Cull Cows (Total)					head	\$344,829
Cull Bulls (Total)				35	head	\$32,482
Cattle & Calves (Total)			No. Cows			\$5,200,296
HORSES						
Brood Mares						
Race Horses	10	30	No. Brood Mares	17	head	\$136,000
Show Horses	85	200	No. Brood Mares	120	head	\$480,000
Recreation Horses	430	2,050	No. Brood Mares	1,200	head	\$1,800,000
Brood Mares (Total)						\$2,416,000
Stud Fees						
Race Horses		5	No. Stallions	20	mares bred	\$50,000
Show Horses		30	No. Stallions	70	mares bred	\$105,000
Recreation Horses		25	No. Stallions	30	mares bred	\$15,000
Stud Fees (Total)						\$170,000
Race Horses (Total)	7			22	head	\$264,000
Show Horses (Total)	55			140	head	\$700,000
Recreation Horses (Total)	450			1,000	head	\$1,500,000
Horses (Total)						\$5,050,000
SHEEP						
Wool (Total)		50	No. Sheared	250	cwt.	\$63
Slaughter Lambs (Total)				16	head	\$2,543
Show Lambs (Total)				12	head	\$3,600
Stocker Sheep (Total)				32	head	\$2,400
Cull Sheep (Total)				15	head	\$825
Sheep (Total)	12	50	No.Breeding			\$9,431
1 ()			Ewes			. ,
GOATS						
Show Goats (Total)				27	head	\$6,075
Slaughter Goats (Total)					head	\$4,666
()						+ -,- 30

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
GOATS					_
Stocker Goats (Total)			40	head	\$3,460
Cull Goats (Total)			24	head	\$1,440
Goats (Total)	8	80 No. Does			\$15,641
SWINE					
Show Pigs (Total)			20	head	\$5,700
Feeder Pigs (Total)			78	head	\$2,434
Slaughter Hogs (Total)			80	head	\$10,452
Culls (Total)			20	head	\$3,360
Swine (Total)		No. Sows			\$21,946
TOTAL ALL ANIMAL ENTERPRIS	SES				\$10,297,313

IBERVILLE PARISH \$50,984,450